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specification Test {

property s : { // Transitions
// Variables transition x' = (
local var x : integer if (not (y <2)) and (not (x=1)) thenx-1
local var y : integer elsex+1
local var z : integer )

transition y' = (

// Invariants if(y<2)and (x=1)theny * 2
invariant x >=1 elsey-1
invariant x <=2 )
invarianty >=0 transition z' = (
invarianty <=2 ifz<yandz<2thenz+1
invariantz>=0 elsey
invariant z <= 2 )
} models
// Initial values // Expression
initial x =2 G((not (y < 2)) or (x=1))
initialy =2 }

initialz=0
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